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| Answer any four questions]

1. ® An electron of rest mass 9 xIl}"'Kg is in motion with a | b. Explain with diagran Hygens's priniciple, 2
velocity 0.99¢, ¢. Find the wavelength of light, 3
a. What is time dialation? 1 | d. Desciribe Young's double slit experiment and discuss the
b. How the length of a a bar in & moving frame is changed to conditions of formation of bright and dark fringes. 4
the ohsever of a stationary frame? 2|85 . v
¢. Find the total energy of the electron? , 3
d. Compare the Newtnoian and relativistic kinetic energies of T
the electron. 4 E4
2. » The frequency and the m]mge of a' sec. and 230V
respectively.
a.  Define angle of dip. 1
b. Explain Biot Savert law. 2
¢. Find the equation of the E.M.F of alternating current using o X
the data's of the stem. 3 e
d. After how much time the.yalue of current will be zero? | a.  Define mass defect. 1
Explain mathematically 4 | b, Explain fusion and fission. 2
LA ' i e ¢. From the above figure calcuate N = N.&™ 3
L d. Isit possible to make the relation between Ty, and T by the
& U_ o ik 2 h-m“ stimilus? Explain it mathematically. d 4
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a.  What is wheatstone bridge? 1
b. State Kirchoff's law 2| a Define AND gate. I
c. Calculate the equivalent resistance from this circuit. 3| b. Ttansformation of Hexadecimal Number to Decimal
d. Compare the equivalent resistance’s when all are connected Number (19E); =" 2
in series and all are connected in parallel. 4| c. With the above figure draw the circuit or exclusive OR
4. PIn Young's double slit expeiment the distance between gate. 3
two slits 2.0 mm. The senartion between two consecutive | d. Write the truth table for the figure B and from it explain
iringes at a distance 1m from the slits is found be 0.295 mm. gale operation, 4

8. What is called electromagnetic wave? 1
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| Darken the cirele (O) with black ball point pen from the alternatives |

Which one is the correet valee of the triple | 13 What s the equation of magnetic field due | 22, Which statement is correct for this figure?
point of water? to straight wire carrying current? B  The ohject is virtual but |.hc image s
& 27.18C & 73.16K @& BeLl?m H Beplim real
® 11K @ 273°C © Be=paisl @ B=patm ® 1_1:‘;h,.-.¢n it real but the image is
maximum efficlency AGEW sition ¥
‘r:rvh::i:rﬂuélmwﬂﬁhium'hﬂ:ﬁ: ﬁ!&ﬂ;ﬁﬂm! = e s © The object pakesd out side the 17
tem) v d principal focus & the knage i found
peratures 167°C and 5T°C? Gl |
20% out gide of 27 principal focus
@ 15% &
© 5% @ W% @ The object placed in wide the 18l
wrﬂhmismumulmp rs?mwlﬂf::uh{ﬂm & 1:1!5 image s
-1 uned i ] principal fogus,
{g J:rn*" @ Jkg 3. 1eV Hll-l-i\'llﬂ; lo— ® o
/ & 16x10d 1.6 Q%)
The capacitance of a capaciior does nol : @ 16x10™ @ 1610
depends on— .
Here, n,= 200 ums, Bp = 220Y &E =11V 4. I an object moves with a velocity af light.
g g::::}:hﬁwﬁc Shape ot BOPHE | 20 Toialathe figure of..... its length will be? :
@ Separation bu'.'mp'u:n the plate & Generator zer0 % ::ilnng.r
P Hﬂﬂ]‘i! mobar C
T A R o el e it i vl cesobiy of gt vt
Leye .- dap h:ﬂuw mass * i
R LV nefiorme: :
i IS "il?h!ﬂls::?d:!mm_mr ®, Zero ® Infinity
s B © i Eelectromagnel ®  Same @ None
19 i Electsic cotrent 26, IT the velocity of tI]l.' system s negllgible,
118 #il . Electromagnesic Induction Lorentz transformation lrlm_lfmns it g
mlni P 4 ; Which one of the [ollowing is correct? @ Maxwebam transformation
5 i i B Galilian ransformation
g th i @D :LL i .% :]_, % P& % Newtonian transformation
! ; Maone
To increase the capacitance of o parallel | 16, Inour practical life, this device Is used in i i e vt
tor, the distance between two i Radiodevice i Telephone eadl the passage q
%w& fii.  Televiskon no 27 & I8 'I_'h.t rest mass of atomic
move iway () bring nearer * Which one of the following is correct? i %HJ::I; ::slrz;lfm'ﬁrgq
; i Rl : o !
G, ke sealioe D Nows g :: i g i @ 225107 ® L4x 107
E LR lmm’ﬁm’mm 8 %m:uf . :-tl:ll:r:llI o ;h‘::;::wl.hlm what
TG ] parilcle moves
E L iy ® ita total energy?
A {} [ © ¥ @ - .
' 18, The refractive index of glass and  water ® s6lx10 @ Si6x1074
E with respect to air respectively 32 and 473, & S5awlo™ @ Sisw10t
T What s the refrictive idex of water with | 29 How many diodes are used in full wave
repsect 10 glass— biridge rectifier?
_.w_{ @ l||-l @ 2 % 1 {{'_a@‘; 2
wmh':'f;h;,;: Eﬁ;’:ln ;,mf: rrent fow | 19 The ceitical angle of glass with respect to 30. :::;:u::ﬂ“' value of encrgy gap fn a
4 vacuum is 41°-
gty fhln cliea, i, The optical density of glass is less than @ ey ® 1lev
@ 1A @ 0214 s iz © 0TV @ ov
?mlta;dm'— @ 0196 A i " When fight incidesis’ 08 glss from ?:;1 ‘Lh;]pmge & answer the gquestions
@ Incrense the mais Mow. vacuum af 5 angle ‘41° the angle of For 10mA eminer curent in o transistor the
(B Decresse the mafn flow ,, refraection ls 0% colicotor current becomes 9.5mA,
®  Made the main fow zer i When Hght incicents on vacuum fOm | 4y wWihat s ihe base current of transistor?
@ M:nr.l - = ghss nt an angle 41° the angle of @ 195mA . @ -05mA
refraction s 907 s
W the umit of fic resistance? & .05mA @ —195mA
L G ™ * Ot miter (Q-m) Yhich one ol tiwe itloning i-comect!. 32 What is the current Amplification factor
fi.  Siemens % ILL % i i and current gain. &
ollowing Is correct? - i il @ 095&19 1.05&0.08
wHﬂ‘i L delidg “tu!ll 20, Wha invented compound microscope? & M9 @ 095 & 008
@ i @ i &ii & Newion ®  Galileo 33, Final slage of life of the star having mass
Kirchhoff's 1st law is— ©  Kepler @ Pank I will be
i, Eir=IE i, Ei=0 See the figure & answer the questions na. 21 & 22 (@ Black Hole % Wihite Dwarf
i i - €+ Meutron Star Mone
hkhix 3’&! following is correct? f‘m‘xﬁ“‘\ M. Image formed in astromgmical telescope
@ i ® i&d k 5;;_ !
B &k M i | f: ;.rcl:,l > %'l :uw:rl 1
ned for— €'  Ercet and long mvert and shan
g)mﬁﬂufmﬁi' (& Para-magnet, Here, an object of length Sem is placed 15em | 3¢ yhich stage comes earlier in the life of
©  Fetro-ma @ Noie away from a convex lens & the image distance is star?
The unit dmlwpﬁk Mo fi— 30em. @ Proo star (B Neutron star
@ “?".mprr': & Weber Bl :;)h“ E,;? Soagil “g"’#;k ) Super povn G White dwarl
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